
C-SBX-107-INST_2-25 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ALWAYS! 

* Read all Instructions before installing any Havis, Inc. products. 

* Use Hardware included with install kit 

TOOLS NEEDED:    

Socket set (Standard & Metric) Open End wrench set  T-20 Torx bit 

 

 

INSTALLATION PARTS AND MOUNTING HARDWARE:  

 

QTY DESCRIPTION PART # 

1 Storage Divider 25409 

2 Mounting Bracket 40621 

2 M6 X 1mm, 60mm Bolt 41586 

2 AL Spacer, 1- 5/8” Long 41587 

2 Washer, 3/8” Flat 16127 

2 Torx Screw, #8 X 3/8 13405 

6 ¼-20 Nut, Flanged 16013 

6 ¼ -20 X ½” Carriage Bolt 16222 

  

C-SBX-107 INSTALLATION INSTRUCTIONS  

Lockable Under-Seat Storage for 2025 Chevrolet Silverado EV 

 

 



C-SBX-107-INST_2-25 

C-SBX-107   

(Assembly) 

 
 

 

 

 

 

 

 

 

 

Storage Divider 25409 

Mounting 

Bracket 40621 
Torx Screw 

13405 

M6 Bolt 

41586 

Washer 

16127 

¼-20 Nut 

16013 

AL Spacer 

41587 

¼-20 Carriage 

Bolt 16222 



C-SBX-107-INST_2-25 

  

 

 

 

 

 

Insert M6 bolt (41586), Washer (16127) and AL 

Spacer (41587) into slotted holes of storage box.  

Remove OEM storage cubbies from 

under rear seat 

 

 

 

 

 

r seat 

Install Carriage Bolts (16222) and ¼-20 Nuts (16013) from 

inside the storage box into the Mounting Bracket (40621) in 3 

positions shown. Repeat for other side. Tighten all fasteners. 

Place storage box on top of 

Mounting Brackets (40621) and 

loosely install M6 bolts (41586) 

into center mounting holes  

 

Using OEM bolts from the storage cubby, 

install mounting brackets (40621) on DS and 

PS. NOTE: Mounting Bracket is the same 

for both sides. Orientation from the PS is as 

shown above. 

 


